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SECTION _ A

(a) Home and Foreign are the only two countries in a

hypothetical world economy and each of them has

only one factor of production labour which can

produce two goods: cloth and wine. Home has (
3000 units of labour and Foreign has 6000 units of
labour. In Home one metre of cloth requires 3

hours of labour and one litre of wine production

requires 2 labour hours. In Foreign one metre of
cloth requires 5 hours of labour and one litre of
wine production requires 3 labour hours. World
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(i) soo rcc wa fr trttri cRslrfr 6T:k-sr{4t

(ii) soo Gfto-'r {c} m frm vRcvfr al u-$r
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8. Write short notes :

(i) Interest parity condition

(ii) FinancialTrilemma

(iii) Liquidity trap in DD-AA model (5,5,5)
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(i) Non sterilized purchase of foreign assets

worth 500 billion rupees.

(ii) Sterilized sale of foreign assets worth 500

billion rupees. (3)

(b) Examine the effectiveness of sterilized sale of

foreign assets under imperfect asset substitutability.(

Draw suitable diagram. (7)

(c) Does the unregulated nature of a global banking

activity leave the world financial system vulnerable

to bank failure? If yes, what measures have

governments taken to reduce it? (5)

(o) AAt + +ffc +6 6T Ed;r Y{ *i Pqr rrqr I

T+s + +ffc *o d'qc-< v* fr rri-d{r sft fsr d
$ + A+ Ere cffi d qrcqr d'

relative demand for cloth in terms of wine given

as Q"/Q* : P*/P..

(i) Draw RS and RD curve and calculate the

equilibrium relative price of cloth in terms

of wine.

(ii) Explain the gains from trade in term of the

wage for Home.

(iii) Other things being same, assume that the

productivity of labour doubles in Home in

the wine sector. How do international

specialization and world equilibrium relative

price of cloth (Pc/Pw) change? (4,3,3)

(b) Assume a world comprising of two countries Home

and Foreign which can produce only one good using

a fixed factor land and another variable factor

labor. Let us assume that land labour ratio in home

is lower than in Foreign and markets are perfectly

competitive in both the countries. Labor is perfectly

mobile between the two countries. With the help

of a diagram explain the effects of costless

international mobility of labor on the wage rate

and world output. (5)
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(b) Examine the expenditure-changing and Expenditure-

switching Policies in correcting internal and

external imbalances under the Bretton Woods

system. (6)

(o.) &S-w efu cwrsffi qfr * raq-tn t v+ srctq{en

d srq.rar+ q< iB+. d{ ffi E€Sn'+ $P{re dl
renft fi'q-6,i * yr{r+ e1 ffisrsA r

(rs) +.{ gq{ .rafr + str( srraR*. Blh sr6t irirEilit-

qil A'q- fi+ * frs qc-cMq *< qq-q<srq

+fuii s1 urq *frd r

(a) The balance sheet of the central bank of Moorland

is given below :

Balance Sheel ofthe Central Bank ofMoorland

Assel (Rupees Billior) Li.bilily (Rupees Billion)

Domestic Assets 1500 Deposits held by the Private banks 2500

Foreign Assets 2500 Cunmcv in Circulation 1500

Total Assets 4000 ToralLiabilities 4000

Explain the effects on money supply and changes

in composition of the balance sheet of the central

bank of Moorland :
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(r<) lrqc 6-arm Tr eqrq + irq{ t 'sqqrat ryo,' alt

'ffft-d sg6' + Aq srfl ftrsrq t

5. Write short notes

(a) Effective rate of protection

(b) Comparative advantage in Intertemporal trade

(c) Leontief Paradox (5,s,5)

(u.) rtuur d yqr& st

(ro ) ffi+ qrqR I !E-{r6rfi drr{

(zr) frd'Em ftturqrs

atm-d

SECTION - B

(a) With the help of DD-AA and XX schedules explain

the effects of monetary and fiscal interventions

both temporary and permanent in an economy on

current account. (9)

2943 5
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(la) v* tsr frr+ r{r+ fffrd ft<} Ehi ifu cltrr A ?rT

e fr fu l_*, Rn snr< XR eft c-* rq qM*q
{TrFriFr ql sc+{r qr+ +q-d{ \-6' qG sT ven+r 6'r

wcni I r sr{s nr* tA i B. EhT t 1ft-m rgwa
qr?rr n tfr-ryq srgvm fr gr+ t ol + Blh fi'
E ?ri +- qrdr< $ Trt ch€tff i urq ffi H *
fi-q Xt rra + rTRff{ * r cs s{t{s q1 rre i c-trtt

Er *{ frr{ viqrrr rrt ,rq * EFT'irA-{ tsffiqq
qfrfi-mr A c:rrfr fr qrcqr dfrii r

(a)'A production subsidy is better policy than an

import tariff to address the domestic market

failure.' Explain with the help ofsuitable diagram.

(6)

(b) A country produces wheat using land and labour

and cloth can be produced using labour and capital.

The supply of land, labor and capital is given and

fixed. Labour can move across two sectors within
the economy. Draw production functions for each

sector, production possibility frontier for this

economy and explain allocation of labour across

two sectors. Assess the impact of an increase in
the relative price of cloth on the allocation of
Iabor between two sectors and effects on the

distribution of income among the three factors of
production. (9)

P.T.O.
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(a) ln a 2x2x2 Hecksher-Ohlin model of international

trade explain the relevance of the one to one

correspondence between the relative price of (

goods and relative price of factors. How this

relation relationship determines a correspondence

between relative price of goods and relative factor

intensities in the production of two goods? Explain

with suitable diagrams. (9)

(o.) eiu irk l-drr + fr( ffe wa * fts lr.r Bfu fffi
trfi y( ntrR Es .rs I 

'

aiqvlrgfl{f,

Eaqr

D=200-4P

S=80+P

q{esr D'= 250 - 3P

s*=t50+2P

(i) Rfrr *< qr*T * ffq Wr qrqR * fttrd Gr&

q-o * stei$q qrqn * ew sfu frw srmR

t *A $-d + t.g-fi as fr Tulqr *RTA I

(ii) qt$rt * enqra vt E?fl um ilns rrs yfr

E+-r{ d q{ t qo frRre ry.+' * {a 6sM
qErq * .lr'raT 6?'r

(iv) F&d frfte qgi+. d ss er fr zrrr<r of frs
w e?r i silcrf, qr{ qa i vrft I r

(
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(b) With the help of production possibility curve,

isovalue lines and indifference curves explain the

derivation of relative supply (RS). Using relative

demand and relative supply curves show the

welfare effects for a country from an improvement

in the terms of trade. (6)

(a) em<r$u qrqr + 2x2x2 ?+tr-ffi+ vfrw I
<qS fi eria d'cil d{ {nF} d erter dtc-d * A-q

q6 t q6 (one to one) aqw-at fr qrffilrdr fr
qr(qr qi r z16 qqu n sEfr 6 ser++ I aqstr *
*rt* {g *t qrter qIEr+ rr6;krr * fi-n w rcltwr
Fuifu orar t i :cgffi firiqt* + fiq ffisrfr r

(r<) rerfr-+rr {fi, .r r.n qrrwir q5 sfu sq-frrd t€r$

fr rar.rf,r t qrta 1ffi q-fi c{6 qir q-sfr d qnqt

frM r rnter qm *t qris tH .fr * 3c+lT 6+

Es qrqR * rrfr + $rR A+ 61 va tsr * frs

ceTursrt vrrtq tqgrgA r

(a) The demand and supply curves for kiwifruits for

Home and Foreign (asterisked) are given by :

4

P.T.O.
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Demand and supply curves

Home

D=200 4P

S:80+P

Foreign
D'= 250,3P

S*:150+2P

(i) Under free trade between Home and

Foreign find the world equilibrium price of
kiwifruit and pattern of trade.

(ii) Calculate the net welfare effect of a

specific tariff at the rate of 2 per unit on

the import of kiwifruit imposed by Home.

(iii) Beginning from part (i) calculate the net

welfare effect of a specific export subsidy

at the rate of 2 per unit on the export of
kiwifruit imposed by Foreign.

(iv) Calculate the rate of prohibitive specific

tariff at which Home's import demand

becomes zero. (3,3,3,3)

(b) Show the difference between 'Optimum tariff' and

'Prohibitive tariff in terms of their effect on

national welfare. (3)


